SERIES 'EH' & 'EHL'
VERTICAL PUMPS

Pumps with moulded column
manufactured after Aug. 1, 1994.

PARTS LIST
P-8802F-1
JULY 2001

Refer to Bulletin P-301-1 and
Operation and Service Guide 0-905-1.

MODELS MOTOR OPTIONS
EH (CPVC) ITEM DESCRIPTION NEMA Metric
EHP (POLYPROPYLENE) — — w/separate shaft|w/separate shaft
otor -
EHK (PVDF) 2850/3450 RPM
7.5HP (5.3kW) 3 phase 66-1017 -
5.0HP (4.0kW) 3 phase 66-1018 -
4.0HP (3.0kW)3phase - 01-6627 A
3.0HP (2.2kW) 3 phase 66-1019 01-6628 A
2.0HP (1.5kW)3phase 66-1020 01-6629 A
1.5HP (1.1kW) 3 phase 66-1021 01-6630A
1.0HP (0.75kW) 3 phase 66-1022 -
1.5HP (1.1kW) 1 phase 66-1034 -
1725 RPM
1.5HP 3phase 66-1032 -
1.5HP 1 phase 66-1046 -
1A | Motordrip cover (optional)  1.5&2HP 66-7005 )
3.0,50,&7.5HP  66-7006 ALL 01-6700
2 | Spacer -CPVC (4 required) 44-3194
-316SS (optional) 44-31941
5 |Lockwasher, 3/8"size -SS(4reqd.) 11-0140
Flat washer, 3/8"size -SS(4req'd. 11-0126
Nut, 3/8"size -SS(4req'd.) - 11-0105
4 Hexbolt, 3/8"x1%." -SS(4req'd. 11-0444 -
3/8"x2"  -SS(4reqd.) - 11-0379
Capplug (4 req'd) .
4A | Capnutstudass'y - 304SS (6 req'd.) 83-1627A
PUMP COMPONENTS
MOD. EH |MOD. EHP|{MOD. EHK
@ ITEM DESCRIPTION (CPVC & (PP) (PVDF)
& PVC)
T ‘ I £ |'0"ring (18required) 44-31971 | 44-64081 | 44-26872
- N -EPDM{standardon EF)
= . \
AT ERAR: 6 -Viton (star‘1dard on EHP & EHK) 99.0569
IR Capnut, (6 required) 22-0568
7 |Vapourseal -TFE 44-2682 44-6407 | 44-26821
91 [Support casing,column & 22-0848
10 mounting plate assembly
NEMA
Metric (90 FR) 44-31822 | 44-7427 | 44-7435
Metric (100 FR) 44-318227 | 44-74276 | 44-74351
Driveshaft  -stainless steel 44-318226 | 44-742711 | 44-74356
11 - titanium (optional) 44-3210
Impeller & sleeve assembly 44-7347
12 -2SC - 4" diameter - w/Viton"O"-ring®
'Recommended spare parts -3SC - 4-3/8" diameter 44-31872C | 44-74292 | 44-74372
2For Viton "O"-ring, add V (i.e. -5V) -4SC - 5-1/4" diameter 44-31873C | 44-74293 | 44-74373
to Part Number. . -5SC - 5-1/2" diameter 44-31874C | 44.74294 | 44-74374
3For EPDM "O"-ring, add A (i.e. - 5A) PVDF impeller & sleeve assembly 44-31875C | 44-74295 | 44-74375
to Part Number fitted to CPVC pump w/EPDM
2SC-4"di "0"-ring?
25C-4 dmﬂmgter 44-32332C _ -
-3SC - 4-3/8" diameter 44-30333C ~
-48C -5-1/4" diameter 44-39334C - B
-5SC-5-1/2" diameter 44-32335C - _




16

= NN

Tur s NN

Mﬂﬂﬂﬂﬂﬂ\h\
AT

"Recommended spare parts
2For Viton "O"-ring, add V (i.e.-1V)
to Part Number.

3For EPDM "O"-ring, add A (i.e.- 1A)

to Part Number

Prices: EX Works Manchester

P-

8802F-1 Page 2

PARTNO.
ITEM DESCRIPTION MOD.EH |MOD. EHP |MOD. EHK
13 ["0"-ring
-EPDM (standard on EH) 22-0545
-Viton (standard on EHP, EHK) 22-0544
14 | Suction casing - NPT ports 44-3181 44-72881 | 44-66051
-BSP ports 44-31812 | 44-72883 -
15 | Suction extension,
2"NPT x 24" long (optional) 33-1487 33-2264 33-2265
Nipple, 2" NPT x close 33-1029 33-0265 33-2266
16 | Suctionstrainer, optional polyethylene Halar
99-07441 99-1030 99-1030
17 | Discharge pipe,
1%2" NPT x 1%2" BSP, 12" long (optional) | 33-10592 |33-1059 1PP| 33-1059 2K
18 |[Discharge elbow,
1%"NPT (optional) 33-0996 33-2269 33-2270
20 | Pump without motor (NEMA)
with -2SCimpeller 45-0120 45-0620 45-0720
-3SCimpeller 45-0130 45-0630 45-0730
-4SCimpeller 45-0140 45-0640 45-0740
-5SCimpeller 45-0150 45-0650 45-0750
Pump without motor (Metric)
with -2SCimpeller 45-0120MB | 45-0620MB | 45-0720M
-3SCimpeller 45-0130MB | 45-0630MB | 45-0730M
-4SCimpeller 45-0140MB | 45-0640MB | 45-0740M
-5SCimpeller 45-0150MB | 45-0650MB | 45-0750M
21 | Titanium stud kit optional
Replacesitems #5,6 &7 45-0171
22 | Titaniumboltkit (optional) NEMA Motor Metric Motor
Replacesitems #3& 4 45-0173 45-0173M
Includes:
Lock washer (4 req'd) 11-2068 11-2068
Flat washer (4 req'd) 11-2067 11-2067
Hex bolt (4 req'd) 11-0684 33-8063
Nut (4 req'd) - 11-0395
OPTIONAL 18" LENGTH MODEL -EHL
9 | Vapourseal -TFE 22-0848
10 | Supportcasing, column & mounting
plateassembly -CPVC 44-7415
-Metric90 FR 44-741527
-Metric 100 FR 44-7415 26
11 | Driveshaft -stainless steel(std.) 44-7418
-titanium (opt.) 44-7347 1
12 | Impeller & sleeve assembly
- 2SC-4" diameter 44-74202C
-3SC-4-3/8" diameter 44-7420 3C
-4SC-5-1/4" diameter 44-7420 4C
-58C-5-1/2" diameter 44-7420 5C
17 | Discharge pipe
12"NPTx 18"long 33-2288

Terms: Nett 30 Days

Minimum Order £50.00

“{ll Ashburton Road West, Trafford Park

Manchester M17 1 RW England

Phone: +44 (0

[SERFILCO RuRORE

Broadoak Industrial Park ) 161 872 1317

Fax: +44 (0) 161873 8027

] Email: sales @serfilco-europe.com
www.serfilco-europe.com

DISTRIBUTED BY:




